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Algebra 2 - Mr. C. Name___________________________________

  Period____Date________________Q2 HW4 - All work on looseleaf.
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26)  27)  

28)  29)  

30)  31)  

32)  33)  

34)  35)  

Simplify.  Your answer should contain only positive exponents.

Factor each polynomial completely.

Simplify.  Use absolute value signs when necessary.

Simplify.

Simplify.  Answer will have only positive exponents with no fractional exponents in the denominator.

Solve each equation. Check your solutions.

Solve each equation by factoring. Check your solutions.

Solve each equation by taking square roots. Check your solutions.
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